
ELM

Assembly Instruction

Hardwood 
Dining Chair

Page 1 of 4

• Please do not throw away any of the packaging or instructions until you have checked all the components and 
hardware and have successfully completed the assembly

• Before starting the assembly, please spend a short time looking through this leaflet.
• We suggest building your item on a soft surface such as a rug or carpet, or even the packaging this item 

arrived in. This will help protect the product and your floor!
• Please only use the appropriate tools needed for each task as indicated or mentioned.
• Ensure you have 2 people if your product is heavy or large, or awkward for you.
• Assemble all components loosely until the final stages.
• Keep the assembly tools with the instructions. depending on use, it will be necessary to perform maintenance 

or upkeep on your product.
• Please keep small pieces out of reach of small children
• If you encounter any issues or concerns before, during or after assembly, be they large, small or strange, 

please let us know at customercare@b2cfurniture.com.au We have a dedicated support team with solutions 
and remedies ready to put them into action for you.

• Final step, enjoy your furniture!

Page 1 of 4



ELM

Assembly Instruction

Hardwood Dining Chair

Leg Right & Left (2)

Back Support (1)

Front Apron (1)

Back Apron (1)

Cushion Seat (1)

1

3

5

4

2

M6

M8

M10

Page 2 of 4

A. JCBC BOLT
M6 X 45 mm

(8)

B. Spring Washer
M6 X 13

(8)

C. Barrel Nut
Short
(2)

D. Barrel Nut*
Long
(2)

E. Barrel NutLock
(2)

F. Pan Head
M4 x 32 mm

(4)

G. Allen Key
M4 Long

(1)

H. Allen Key
M5
(1)

I. Wood Dowel
M8 x 20

(2)

J. JCBC W
M7 X 32 mm

(2)



Assembly Instruction

1.

2.

*All screws should be done by hand or if a drill is used it needs to be on a low torque setting
*BARREL NUT (Long)" has a notch/hole that needs to line up in order to fit correctly

with its counter part to complete the assembly. 

Page 3 of 4

3

DD
1

5

1

4

B
A

G
4

1

First Step

 Second Step

3

3

1

C

D

E

C

H

Third Step



Assembly Instruction

3.

4.

Page 4 of 4

4

H

2

J

G

2F

F


